
























































































 Instead, he sent Chamberlain a letter guaranteeing the safety of Czechoslovakia if the 
Sudetenland were ceded to Germany. 
 

 Mussolini suggested that Hitler should solve the issue at a conference. 
 

 This was to become the Munich Conference, held on the 29th September, 1938. 
 

 It was a meeting between Germany, Britain, France and Italy. 
 

 At the conference, it was decided that he could have Sudetenland. 
 

 The reasons for this were… 
 

 The issue wasn’t important enough to wage war. 
 There was fear that Germany would bomb Britain. 

 
 The Czechs were told that if they resisted Hitler, they would not be assisted. 

 
 Czechoslovakia also had to hand territory over to Poland and Hungary. 

 
 Hitler promised to make no further territorial demands.  

 
 At the time, Chamberlains’ policy of appeasement was largely welcomed. He was seen as 

a peacemaker. 
 

 Churchill, however, opposed these actions. It was dishonourable and it loss the Allies the 
support of Czechoslovakia – one of the best armies in Europe. 
 

 On 15th March, 1939 Germany marched into the rest of Czechoslovakia. 
 

 On 31st May, Britain announced its commitment to Poland. Appeasement had ended. 
 

 Journalists Cato attacked the appeasers as they were blind to the aims of the criminal 
Nazis. 
 

 Historian Charmley believes that Chamberlain achieved the best possible result for his 
country, considering the economic constraints. 

 
 Some of the other reasons behind appeasement include… 

 
 Many believed that Hitler was justified in invading countries. He chose those that had 

borders with Germany or spoke the language. People didn’t expect him to start invading 
randomly. 
 

 There was a popular dread of another war. So, was there really any other alternative? 
 

 In the case of war, France was preoccupied with other matters and not a very strong ally, 
and they didn’t want to become allies with the USSR, as there was a lack of trust for 
communism. 
 

 Britain was preoccupied with domestic matters. They didn’t want to waste money on 
defence. 
 

 Some believe that appeasement gave Britain a chance to rearm. Otherwise, they would 
have been going into war with a run-down army. 

  



 There are arguments both for and against Chamberlain and appeasement. 
 

For Against 

Appeasement had been used for centuries. 
There was precedent. 

Regardless of the reasons, appeasement failed. 
It was a cause of WWII – which it aimed to 
avoid. 

Most criticism derives from Churchill’s recounts, 
which had the benefit of hindsight and was 
heavily prejudicial. 

Regardless of his motives, Churchill was right. 
There are also other sources on appeasement 
that have been used to form a judgement. 

Chamberlain was not a fool. He was simply a 
victim of circumstances. 

While intelligent, Chamberlain had little 
experience in foreign affairs and often ignored 
advice. 

Chamberlain recognised that his people were 
not prepared for war. 

Sometimes a leader must implement reform if it 
is necessary and not solely rely on public 
opinion. 

Chamberlain was not the only one to believe 
that Hitler’s initial demands were reasonable.  

The demands may have been reasonable, but 
his methods were not and should have been 
opposed. 

While he did make the mistake in trusting Hitler, 
there had never before been a leader like him. 
The extent to which Hitler lied was 
unprecedented. 

There was much evidence of Hitler’s inability to 
be trusted – he openly broke Versailles by 
reaming an army and placing troops in the 
Rhineland (36), he had annexed Austria, and so 
on. 

 USSR made it clear that they would help the 
Allies if they were willing to stand up to Hitler. 
Britain failed to do more to enlist this powerful 
country. 

 Czechoslovakia had a large army, excellent 
defence borders and great industrial power. At 
Munich, Chamberlain made Germany stronger, 
as they then acquired the military and industrial 
potential. 

There was no real evidence that Hitler could 
only be stopped by war. 

They overestimated Germany’s strength. Had 
they take action before late-1939, they would 
have succeeded. 

Britain was in great need of social reform. This 
was placed higher than spending money on 
defence. 

 

Britain couldn’t risk a war in Europe when the 
Japanese threat in Asia was growing. 

 

Chamberlain adapted his approach and 
rearmed in 1938 when Hitler’s intent was made 
clear. 

Standing up to Hitler sooner may have 
prevented the need to fight. 

  



 Historian Paul Kennedy: “There was persistent willingness…, despite all the 
counterevidence, to trust in ‘reasonable’ approaches toward the Nazi regime.”  
 

 Henry Channon (diary): “Never has he been proved more abundantly right for he gave us 
six months of peace in which we re-armed.” 

 
e. Significance of the Nazi-Soviet Non-Aggression Pact 
 

 The Nazis and Soviets hated each other, as they represented the extreme right and 
extreme left. 
 

 Hitler wanted to invade Poland to gain Lebensraum (living space) and as it possessed 
territory and people taken from Germany in 1919. 
 

 Operation White was organised in 1939. 
 

 Hitler’s main concern was the reaction of the Soviet Union. He needed to avoid a war on 
two fronts. 
 

 Stalin knew that war would be waged over Poland, as Britain had made that guarantee. 
 

 They were not prepared for fighting… 
 

 They were rapidly industrialising so couldn’t focus on war. 
 The countryside was almost in civil war. 
 The army had been purged in 1937 and were still not strong. 

 
 Thus, signing the non-aggression pact would be beneficial to both countries. 

 
 The USSR could avoid being in a war with Germany, with no support from the west. They, 

too, could gain land and while Hitler was busy in the west, Russia would have time to 
strengthen its armed forces. 
 

 Germany wanted to ensure that they would not face a war on two-fronts. Hitler believed 
that a deal with Russia would lead to Poland’s quick defeat. Then, he could deal with the 
west and then with the USSR. 
 

 Secretly, on 23rd August 1939, the two countries signed the Pact and decided to divide 
Poland between them. 
 

 Hitler sent his army into Poland a week later. He did not think France and Britain would 
respond. 
 

 Two days later, the Allies gave Germany an ultimatum to stop its attack. The deadline 
passed and they declared war. 
 

 Historian Tampke disagrees with the criticism directed towards Stalin. He argues that 
Stalin had tried to enter into agreements with the west against the Nazis, but was not 
offered much encouragement. 

 
  



f. Final Historian Perspectives 
 

 Historian Taylor argues that the sequences of events reflected the political climate and 
reactions of the leaders, rather than any grand plan made by Hitler. 
 

 Historian Kershaw believes Hitler had grand visions, but was not the kind to plan each 
step along the way. 
 

 Professor Henry Kissinger wrote that the leaders of Britain and France should have been 
more aware that as Germany rearmed, they were going to become far stronger than the 
Allies, unless they were stopped or balanced. Instead, the Allies appeased and disarmed.  

 
2. Course of the European War 
 
a. German Advances 
 
i. The Invasion and Fall of Poland 
 

 In March 1939, Hitler demanded that the Polish town of Danzig become a part of the 
Reich. 
 

 It was for strategic reasons. Danzig was part of the Polish Corridor (which housed 
Germans) and provided access to East Prussia. 
 

 The Polish government refused all demands. 
 

 The Nazi-Soviet Non-Aggression Pact convinced Hitler that he could invade Poland 
without facing a war on two fronts. 
 

 Historian Taylor notes that the Allies knew they could not aid Poland, but they weren’t able 
to repudiate their pledged word without losing prestige as Great Powers. They lured 
Poland into disaster. 
 

 On 1st September, Germany invaded Poland. On the 3rd, Britain, France, Australia and 
New Zealand declared war. 
 

 Historian Craig says that it was the “Polish action” that began what was to be the greatest 
world war. 
 

 Wanting to avoid a war of stalemate and trench warfare, Heinz Guderian formulated a new 
technique called blitzkrieg (lightening war). 
 

 He structured the troops so that air power and panzers (infantry motorised in armoured 
vehicles) would travel first, followed by tanks, and then by the general infantry. 
 

 The aim was to achieve rapid advance through speed, surprise attack and the 
psychological impact. 
 

 1.5 million men attacked Poland. 
 

 Within two days, Germany had control of the air. 
 

 On the 17th September, the Soviets also attacked. 
 

 In 5 weeks, Poland had been split between Germany and the USSR. 
  



 In Germany, many Poles were sent to work in industry and many were murdered. 
 

 When Poland was invaded, the Allies did not provide assistance. This is known as the 
Phoney War. 
 

 France could have sent troops, but were worried that they would be invaded. Britain could 
have bombed industry, but did not want to risk bombing private property. 
 

 After his success in Poland, Hitler wanted to attack the west. 
 
ii. The War in the West 
 

 In December 1939, British warships had some success against the Germans. 
 

 Hitler was concerned. Thus, he felt the need to take over Norway. This would ensure that 
iron ore supplies (essential to make weapons) would continue, it could be used as a naval 
base, and the Germans could keep the British out of those seas. 
 

 Denmark was a stepping stone to this. 
 

 Hitler invaded Denmark on April 9th, 1940. They surrendered immediately. 
 

 Hitler had received intelligence that Britain planned to move troops in Norway. He used 
this in part as an excuse to invade. 
 

 The British decided not to send troops in. Yet, Hitler decided that it was better to launch an 
attack first. 
 

 On 9th April, Germany attacked Norway. 
 

 The Norwegians fought back. However, their 15 000 man army (compared to 1.5million) 
was no match. 
 

 The Germans captured the capital and set up a puppet government. 
 

 The Norway campaign startled the British people. Chamberlain was replaced by Winston 
Churchill. 

 
 In early 1940, Hitler told his commanders that they would attack the West. 

 
 However, Germany’s military plans became known to Britain and France by a chance 

event. 
 

 Despite this, Hitler still launched the attack on the Low Countries. 
 

 The Allies did not make a great effort to increase arms. The French felt secure behind the 
Maginot Line (a line of defence along the French-German border), the neutral countries 
felt that this status would protect them, and the British were geographically far enough 
away. 
 

 The Maginot Line meant that German forces had to be diverted through Belgium, who had 
weak defences. 
 

 Belgium and Holland refused to cooperate with the Allies or make joint military plans in the 
hope that Germany would not invade. 

  



 Holland and Belgium were attacked, beginning May 10th, 1940. This is known as Plan 
Yellow. 
 

 They used the Blitzkrieg tactics which proved incredibly effective. 
 

 After four days, Dutch resistance was broken. 
 

 In Belgium, the troops were trapped. They were pushed to the coast. The British and 
French managed to escape to Britain. It took 18 days to take Belgium. 

 
iii. The Fall of France 
 

 When Germany attacked Holland and Belgium (Plan Yellow), they were also planning to 
attack France. 
 

 The Allies anticipated that the Germans would attack through Belgium. Hence, they 
moved their forces there to meet the Germans. 
 

 Germany’s plans relied upon the Allies doing precisely that. They began to attack France 
from the south. 
 

 In hindsight, the French made some crucial errors… 
 

 The middle of France was largely undefended if the Germans managed to 
successfully invade. 

 Neutral Belgium didn’t protect the border they shared with France. 
 

 On May 10th, Blitzkrieg was used on France. 
 

 The Germans attacked through the Ardennes (unexpected) and encountered weak French 
divisions. 
 

 Meanwhile, the panzer units broke French divisions along the River Meuse and moved 
toward the English Channel. 
 

 The British and French were encircled in Belgium. Most managed to be evacuated. 
 

 After five days, the French were demoralised. There was now the possibility that Paris 
would be taken. 
 

 The French PM recruited a new commander, General Weygand. He created a defence 
line from the Channel to the Maginot Line. The troops attempted to stop or slow down the 
panzer units, but failed. 
 

 When it was clear that France would eventually be defeated, Italy allied itself with 
Germany and invaded France on June 10th. They also declared war on Britain. 
 

 On the 14th, German troops entered Paris. 
 

 On the 22nd, France surrendered and signed an armistice. 
 

 Hitler decided to humiliate the French as they had been by the Treaty of Versailles… 
 

 They established the French Vichy government, who was friendly to the Germans. 
  



 The army was reduced and navy demilitarised. 
 

 They faced a fine of $120 million for their trouble. 
 
Where does this fit in… 
 
 The Germans set a massive force to invade through Belgium. 

 
 In response, half of the French forces were sent there to defend. 

 
 Having created a diversion in the north, the Germans then attacked through the Maginot Line. 

 
 The Allied assumed that the Maginot Line could not be broken. They were wrong. 

 
 The result was that Allied forces in the north were completely separated from the south. 
 
iv. Final Historian Perspectives 
 

 AJP Taylor says that the German advances were a clear indication that Hitler didn’t 
prepare for a great war, but counted on quick victories achieved at little costs. 
 

 Churchill notes that while tragic for Poland, the events were actually beneficial in the long 
run, as it meant that Germany now had his second front with the Soviets. 
 

 The origins of the war used to be blamed solely on Hitler and his policy of deliberate 
aggression, which began against Poland and then Britain and France. Later, it was 
widened when Germany attacked the USSR and declared war on the US. 
 

 This view if held by Allan Bullock who highlights Hitler’s role and the nation which followed 
him. 
 

 Others (like AJP Taylor) agree that Hitler played a role, but argues to what degree. They 
believe that Germany was not solely responsible. 

 
b. The Air War and Its Effects 
 

 After the fall of France, Hitler made an attempt to end the war with Britain. 
 

 He wanted to avoid war on the west and concentrate on the east (Soviets).  
 

 Either way, he prepared Operation Sea Lion – an invasion plan for Britain that could be 
used if necessary. 
 

 PM Churchill was utterly opposed to making peace with Hitler. 
 

 This forced Hitler to attack. He knew he needed to control the skies if Germany was to be 
victorious. 

 
 The Battle of Britain was fought over Southern England and lasted from July to October, 

1940. 
 

  



 The Germans had strong resources… 
 

 Air bases in France and north Europe. 
 

 2100 bombers and fighters (mostly Messerschmitts), as opposed to Britain’s 600. 
 

 They began by attacking British targets, beginning with those along the coast. 
 

 The British economy became focused on producing war materials. Civilians would donate 
materials. 
 

 Historian Taylor comments that the Germans didn’t know whether to bomb or destroy 
British fighter planes first. The British focused on destroying German bombers. 
 

 Operation Eagle began in August. It was a series of attacks on airfields and aircraft 
factories. 
 

 In early September, the Germans began to bomb large cities, including London. Hitler was 
angry that Churchill had begun to bomb Berlin, so he shifted his focus to bombing civilian 
centres. 
 

 Slowly, the British destroyed the power of the Luftwaffe. 
 

 Historian Craig notes that the Battle was won somewhat due to Germany’s mistakes and 
miscalculations, but places far more emphasis on the British, their aircraft, the skill of the 
pilots, their use of the radar, and the spirit of their civilians. 
 

 The British victory was crucial as it meant Hitler had to fight a two, then three, front war. It 
reduced the chances of success in invading Russia. 

 
 The Blitz occurred from September 1940 to May 1941. 

 
 It involved the Germans bombing Britain, largely targeting London. 

 
 The aim was to wear the country down, destroy resources and impart a damaging 

psychological impact. 
 

 Many British civilians had to temporarily reside in shelters and thousands of children were 
evacuated. 
 

 Despite this, they remained positive. 
 

 60% of London homes were destroyed and 43 000 civilians were killed. 
 

 The RAF targeted the bombers. In response, Hitler reduced the daytime raids and ordered 
night ones. 
 

 These were less effective, as the British blackouts meant that the pilots were unable to 
see the targets. 
 

 The battle was essentially over by October, although bombing continued until May. 
 

 The Germans suffered more losses. This may be due to Britain’s access to the English 
Channel, which meant that they could continually repair damages. As German aircrafts 
were far from their home country, they couldn’t do the same. 

  



 The British retaliated to the Battle of Britain by attacking military targets around Berlin at 
the end of August 1940. 
 

 When the Blitz began (September), the British conducted almost nightly attacks on Berlin. 
 

 They caused very little physical damage, but the psychological impact of being bombed 
was significant. 
 

 Commander Harris changed tactics in late 1942. He had access to more and better 
aircraft and improved technology. 
 

 In 1943, the British and Americans united their air strength to decimate Germany’s ability 
to wage war. 
 

 In March, the British waged the “Battle of the Ruhr” and destroyed the area. 
 

 In July, the RAF attacked Hamburg – a civilian city. Smaller cities suffered the same fate.  
 

 In August, Berlin was attacked, causing widespread destruction. 
 

 By the end of 1943, Allied successes were dwindling as the German defence increased. 
 

 Allied long range fuel tanks helped to turn the tide.  
 

 By 1944, German losses were massive. The bombings weakened… 
 

 Level of production. 
 Oil supplies. 
 Rail networks. 
 Their overall ability to wage war. 

 
 However, the bombing of Germany did not achieve some of its key goals – to force 

Germany to end the war, to collapse morale, and to collapse industry. The Germans 
continued to work productively until the end. 
 

 Historian Denis Richards believes that the Battle of Britain was a major turning point. It 
halted Hitler’s path of conquest, allowed Britain time to recoup, and later led to an alliance 
with Russia and the US. 
 

 Historian Richard Overy states that allied bombing resulted in massive losses for 
Germany. They lost half of the weapons needed at the front, millions of workers absented 
themselves, and the economy gradually came to a halt. 

 
 In summary, the victory in the Battle of Britain was due to… 

 
 British radar which made it possible to detect and track German fighters. 
 British aircraft production was strong. 
 The RAF was fighting over home territory which meant quick refuels and repairs. 
 RAF pilots displayed enormous skill and courage. 
 The Luftwaffe lacked specific aims and often operated independently of the German 

military. 
 
  



c. Russian Campaign 
 
i. Operation Barbarossa 
 

 This was the German invasion of the Soviet Union. 
 Hitler desired… 

 
 Lebensraum (living space) 
 A slave force 
 Resources 
 To isolate Britain, by removing Russia as an ally. 

 
 Stalin chose not to believe reports that Germany was going to invade. As such, they were 

unprepared. 
 

 On 22nd June, 1941, 3.2 million German troops, 600 000 trucks, 3350 tanks and 2000 
aircraft invaded the Soviet Union. They were divided into three armies that entered from 
different sides with different aims (Leningrad, Moscow and Kiev). The large front they 
created and the distribution of focus on three aims contributed to Germany’s failure. 
 

 A quick victory was vital due to Russia’s size, access to resources and their winter.  
 

 Initially, German progress was fantastic… 
 

 By the end of July, four centres had been taken. 
 

 The first army was close to its target, but Hitler had ordered them to halt. 
 

 By the end of September, three million Soviets were dead and most aircraft was 
destroyed. 
 

 The second army was also halted so that the tanks could be used against Kiev. 
 

 The third army took Kiev. Germany only met one aim at the expense of the other two. 
Hitler’s interference and refusal to listen to his knowledgeable generals was a reason for 
the failure of Barbarossa. 

 
 German momentum then slowed. 

 
 Troops had encircled Leningrad. A siege lasted from September 1941 to January 1944. 

 
 Operation Typhoon was launched in October to take Moscow. 

 
 They were met with resistance, which slowed progress. The Germans were ill-prepared… 

 
 Winter arrived.  

 
 They had inadequate clothing. 

 
 Engines froze. 

 
 Guns locked. 

 
 Power lines snapped. 

  



 Aircraft couldn’t land to deliver supplies and parachute drops were unreliable. 
 

 Near Moscow, they were short on food, medicine and ammunition. This gave the Soviets 
enough time to prepare themselves. 
 

 They were able to defend Moscow with anti-tank defences and weapons that could 
withstand the cold. 
 

 Additionally, as Japan was about to attack the US, the USSR could use their troops 
elsewhere. 
 

 On 5th December, a counter-attack was launched. In parts, Germany was pushed back 
300km. 
 

 By late 1941, Operation Barbarossa had failed. However, the USSR lost 10 million troops 
(either killed or captured), while Germany had only lost 1 million, in comparison. 
 

 Historian David Christian states that the tide had turned and Germany had been 
weakened. 
 

 General Halder (German Chief of Staff) documented that while the Russians were 
generally weak, they had numbers. The Germans, on the other hand, were moving further 
and further away from their resources. He also points to the fact that their troops were 
sprawled across a long front line without any depth. 

 
ii. The Battle of Stalingrad 
 

 The campaign continued with the Battle for Stalingrad. 
 

 The two other armies were not likely to meet their targets – Leningrad and Moscow. 
 

 Hitler (now Commander-in-Chief) launched a new attack when the Russian roads had 
thawed out. Retreat was not safe since they were surrounded by the Russian army. 
 

 The Germans had small victories. 
 

 Hitler wanted to push into southern Russia. This was called Operation Blue. 
 

 The first army was divided into two… 
 

 Group A went to take oil wells in the hope to slow Stalin’s war effort. 
 

 Group B went to Stalingrad, an industrial centre, simply because its name was symbolic. 
They also wanted to cut off the River Volga, a communication route. 

 
 Initially, the Soviets were outnumbered four to one. 

 
 In August, the Germans launched a two day bombing of the city. Landed troops then 

fought in the streets. 
 

 In mid-November, Russian General Zhukov launched Operation Uranus. The Soviets 
trapped the Germans in Stalingrad by coming behind and encircling them. 
 

 It was now winter again. 
  



 In January 1943, German General Paulus surrendered. 
 

 In July, Hitler ordered a strike on fortifications at Kursk. The Soviets won. 
 

 By late 1943, Hitler’s actions in Russia had failed. 
 

 Between 1941 and 1943 on the Eastern Front, ten million men (including both sides) had 
died. 

 
 Historian Richard Overy believes the Battles of Stalingrad and Kursk changed the course 

of the war due to the collective effort of the Soviet people, most of whom were willing to 
assist. 
 

 Historian Liddell Hart points to the fact that all ideas had to be agreed on by Hitler, who 
was stubborn and inflexible. 
 

 AJP Taylor states that the victory at Stalingrad “shattered the myth of German 
invincibility.” 

 
d. The Campaigns in North Africa 
 
i. Operation Compass 
 

 In 1940, Mussolini decided to attack Egypt and Greece. 
 

 He was warned that Italy could not sustain a conflict until 1942 as they were 
undersupplied and had few troops. 
 

 He ignored this. 
 

 His attack on North Africa resulted in the Campaign for North Africa (or the Desert War). 
 

 He desired… 
 

 To control the Suez Canal to ease transport. 
 

 To control the Mediterranean Highway that linked key African countries. 
 

 To launch, from Egypt, an attack on Middle Eastern oilfields. 
 

 In September, Italy invaded Egypt. 
 

 Initially, they were successful. By November they had gained 150km of land. 
 

 In December, the British troops were reinforced with Commonwealth troops. 
 

 Operation Compass – an attack on the Italian army – was launched. 
 

 They were pushed back over 750km. In early 1941, the Italians surrendered. 
 

 In March, the Commonwealth troops were sent to Greece. German troops (Rommel’s 
Afrika Korps) were also sent there to support the Italians. 

 
  



ii. Rommel’s Afrika Korps 
 

 Mussolini’s defeat in North Africa forced Hitler to create a new front in Libya and Egypt. 
 

 In March 1941, the tank commands left for Libya. They conquered many towns taken by 
the British in Operation Compass. 
 

 The British wanted to defend Tobruk (on the Mediterranean coast) at all costs. It had the 
best port facilities and the ability to make fresh water. 
 

 The Siege of Tobruk lasted from April to December 1941. 
 

 Churchill ordered British forces to support the men at Tobruk. The two relief operations 
failed. Churchill then reorganised the troops. 
 

 Operation Crusader was launched in November 1941. 
 

 After 40 days, Tobruk was saved. However, 40 000 men had died from both sides. 
 

 Rommel began to withdraw in early December. Yet, his Afrika Korps had not been 
defeated in Africa. 

 
 In July 1942, they pushed into Egypt. The Allied troops fell back but created a line of 

defence at El Alamein. 
 

 This month conflict, the First Battle for El Alamein, resulted in a stalemate. 
 
iii. The Battle for El Alamein 
 

 Montgomery (new commander of Britain) faced Rommel’s Korps in October 1942 to end 
the stalemate. 
 

 Rommel was well defended. However, his access to fuel was worrying. He hoped for a 
short battle. 
 

 Montgomery planned to attack Rommel’s front line, an unexpected move as Rommel had 
created an area there full of mines. 
 

 Montgomery initiated his attack on 23rd October, 1942. The battle was fought for ten days. 
 

 He began with field guns that attacked fortifications for six hours and minesweepers (that 
moved over trenches and destroyed land mines) arrived, before the infantry moved in. 
 

 Rommel asked for help, but Hitler refused to send more troops from Russia. 
 

 Tank battles and hand-to-hand combat ensued. 
 

 Rommel ordered his men to retreat, against Hitler’s orders. 
 

 In November 1942, the Allies launched Operation Torch, the invasion of Morocco and 
Algeria. 
 

 Rommel had enemies to the east and west. He had to make his way back to Tunisia to 
evacuate. They arrived in January 1943. 

  



 The Germans continued to fight in Africa until May when they surrendered. 
 
iv. Significance of the African Campaigns 
 

 Very costly for the Germans in terms of resources. Hitler had to send support to assist 
Italy in Greece and Egypt just before his invasion of Russia. From 1941 to 1942, the 
German Army was fighting in Africa, Greece and Russia. 
 

 It allowed the Allies to attack Sicily from Egypt. 
 

 It prefaced the liberation of Italy and collapse of Mussolini’s government. 
 

 Historian David Thomson believed the campaign to be of strategic importance although it 
didn’t really ease the pressure on the Eastern Front. 
 

 Historian David Knowles believes that the victory boosted British morale, despite their 
significant losses. 

 
3. Civilians at War 
 
a. Social and Economic Effects on Civilians in Britain 
 

Some believe that WWII took the world out of the depression as spending occurred on drastic 
levels and jobs were created. 

 
i. The Reaction to the Outbreak of War 
 

 There was relief when war came as it had been expected for some time. 
 

 Predominately, though, the civilians felt strong fear and weariness. 
 

 Conscription had been introduced in 1939. As such, there were no lengthy recruitment 
campaigns. 

 
ii. Preparations for War 
 
 The country had been preparing for war ever since the Munich crisis of 1938… 
 

 Air raid shelters had been built across the country, with different designs for different 
areas. 
 

 Civilians had been issued with gas masks (although gas was never used against civilians). 
 

 Within days of the start of war, 1.5 million children were evacuated from Britain’s cities. 
 

 In order to make it difficult for German air attacks, a “blackout” was enforced across the 
country. 

 
 Beaches were covered in barbed wire. 

 
 Barrage balloons made German dive-bombings more difficult and made bombers fly 

higher, reducing the accuracy of their bombs. 
 
  



iii. The Blitz 
 

 German bombing had a major effect on industrial and civilian areas. 
 

 From 1940 to 1941, London experienced the Blitz. 
 

 Cities and towns considered of economic value were attacked across the country.  
 

 In 1941, ports were the main targets as bombing tried to assist the German U-boat 
campaign. 

 
 German air attacks had several aims… 

 
 To “soften up” the country for a possible German invasion. 
 To destroy Britain’s ability to produce the needs of war. 
 To break the morale of the British civilian population. 

 
 They failed on all accounts… 

 
 The failure of the Battle of Britain ended any prospect of an invasion. 
 Though bombing did do great damage, economic production was never seriously 

threatened. 
 It probably increased morale. The British had great determination. 

 
iv. Government Controls 
 

 The National Service (Armed Forces) Act meant that men aged 18 to 40 (later 51) could 
be conscripted. 
 

 The Essential Works Order placed essential workers under government control. This was 
a move towards total war.  

 
 Security measures included forcing people to carry identity papers, the power to imprison 

or ban people of organisations considered a threat to security (Treacheries Act), the ability 
to imprison or export people of German or Italian descent, etc. 

 
v. Propaganda, Censorship and the Media 
 

 A Ministry of Information was established under John Reith. 
 

 It was Reith’s job to control the amount and nature of information the British people were 
allowed. 
 

 Censorship never developed to the extent it did in Germany. Churchill wanted people to 
know the truth. 
 

 The television service was closed down in 1939 and radio became the key disseminator of 
government information and propaganda. 
 

 At first, broadcasts comprised sombre music and news bulletins. However, it became clear 
the people needed entertainment and a boost in morale. 
 

 Examples include shows such as “It’s That Man Again” and songs such as “There’ll 
always be an England”. 

  



 Cinema also became a popular escape. For example, “Gone with the Wind” was popular. 
 
vi. Rationing 
 

 The Battle of the Atlantic posed the greatest threat to Britain’s survival during the war. 
 

 Britain imported much of its food so they paid great attention to food rationing from the 
start of the war. 
 

 In December 1941, a points system was introduced. 
 

 The Ministry of Food initiated several schemes… 
 

 They urged people to try substitute foods, such as whalemeat. 
 They encouraged people to grow their own vegetables. 
 “The Kitchen Front”, a BBC program, promoted ideas for producing nutritious food 

with limited resources. 
 

 Rationing extended to petrol and clothes. Examples included, clothes sold in shops lacked 
extravagances, people were encouraged to make their own clothes and recycle old 
materials, etc. 
 

 Alcohol and tobacco were not rationed, but trading hours were limited. 
 

 There was a black market for goods in short supply and many people survived by 
bartering items. 
 

 However, for all the hardships, most British people faced life stoically. 
 

 People were treated better during the war than during the depression. Ironically, health 
standards rose. 
 

 By 1942, German submarines were sinking British ships faster than they could be 
replaced. 

 
vii. Health 
 

 The government introduced a series of measures to improve the health of the nation… 
 

 Immunisation was introduced. 
 

 All school children received free milk and, later, half of all school children were 
receiving meals. 
 

 The Emergency Hospital Service widened the availability of medical services. 
 

 The result was great, as demonstrated by the statistics. For example, infant mortality fell 
by 10% and maternal mortality by 40%. 

 
  



viii. The Home Guard 
 

 The Home Guard was created in 1940. It comprised a collection of boys and old men, 
often armed only with sticks and pikes. 
 

 By 1942, under the command of General Ironside, the Home Guard had over 1.5 million 
members. 

 
 By 1945, it had evolved into a decently trained and armed organisation. 

 
 However, since there were no invasions, the Home Guard wasn’t used. 

 
ix. Women During the War 
 

 The war largely affected female employment. 
 

 Some of the jobs they were involved with include… 
 

 Over two million women worked in industrial jobs, including munitions and transport. 
 

 Armed services (Women’s Auxiliary Air Force or Women’s Royal Naval Service), 
generally fulfilling service jobs. 
 

 Civil defence jobs. 
 

 The Women’s Voluntary Service, whose roles included organising evacuations and 
establishing workers’ canteens. 
 

 Nursing at home and overseas. 
 

 The Women’s Land Army, which served in basic farming work. 
 
x. Social Trends 
 

 There was a dramatic fall in crime, possibly due to increased surveillance and the fact that 
millions were absent in the armed forces. 
 

 The war years lead to concern about moral standards as there was an increase in 
premarital sex, divorce and illegitimate children. Most of this derived from the uncertainty 
of human life. 
 

 There were millions of Americans troops based in Britain. There was a mix of gratitude as 
it was believed their presence spelt the inevitable defeat of Nazi Germany and resentment 
as the Americans were “taking” British women and had more money. 

 
xi. The Long Term Social and Economic Effects 
 

 Churchill took over from Neville Chamberlain as Prime Minister in 1940. He was also 
Minister of Defence. 
 

 He also dominated foreign policy, since the minister (Eden) had poor health and fervent 
admiration of Churchill. 
 

  



 This had two main results… 
 

 Churchill remained preoccupied with the military and diplomatic aspects of war. 
 This meant that domestic affairs became the domain of the Labour ministers. 

 
 As a result, the Labour Party was seen as the party for post-war reconstruction and 

reform. 
 

 Thus, when a general election was held in 1945, Churchill was thrown out despite the 
gratitude the nation felt for him. His party was the party of the depression and of the 
appeasers. 
 

 Britain’s wartime government put in place a series of “blue prints” for the future of Britain’s 
society and economy… 

 
 The Beveridge Report (1942) sought to improve the welfare of Britain’s population. 
 Keynes’ Report (1936) concerned the way in which the government could manipulate 

the national economy and thus avoid a repeat of the depression. 
 The Education Act (1944) raised the leaving age, offered free meals, and provided 

medical services. 
 
xii. Historian Perspectives 
 

 Historians Cole and Postgate argue that public interest tended to override private interest. 
Government legislation placed the burden of financing the war on those who could afford 
it. 
 

 Historian Arthur Marwick believes that the needs of the war removed the class system. 
Post-war Britain experienced social equality. 

 
b. Social and Economic Effects on Civilians in Germany 
 
 The impact of WWII on German civilians was catastrophic. 
 
i. The Early Years 
 

 Due to the policy of appeasement, Germans did not expect to have to fight. 
 

 When war broke out, there was a feeling of foreboding. 
 

 Hitler believed that the German failure in WWI was due to the collapse of the Home Front. 
 

 Thus, he was determined to maintain the morale of the population by maintaining a level 
of normality… 

 
 There was no switch to total war production. 

 
 Female labour was not used. 

 
 Initiatives (such as the euthanasia program and the removal of paid holidays and 

extra pay for overtime and Sundays) were met with opposition, and so removed. 
 

 It was not until late in the war that the German people began to suffer on the Home Front. 
By then, the war had been long lost. 

  



 Morale was not a concern for the Nazis during the early part of the war as the swift defeat 
of Poland (with relatively few casualties) and, later, Germany’s rapid successes of 1940 
convinced most people of Hitler’s genius and the strength of the armed forces. 
 

 As such, in regards to propaganda, Goebbels had an easy job. 
 

 He run the newsreel films of the Wehrmacht marching through Paris and paraded war 
heroes through the streets. 
 

 He also utilised the radio and cinema to provide comedy and light entertainment. 
 

 However, Germany’s early easy Blitzkrieg successes were not good for the Home Front or 
the longer term war effort. 
 

 It convinced the Nazis that there was no need for restrictions at home as they could 
continue to live off the resources of the nations they had conquered, including food (35% 
of total) and foreign labourers.  

 
ii. Total War 
 

 By the end of 1942, it was clear that the war was not going in Germany’s favour. 
 

 Britain continued to resist, the Afrika Korps had been defeated, the US were now involved, 
and defeat was looming at Stalingrad. 
 

 In the face of the military setbacks, Germany reverted to total war. 
 

 Goebbels announced this switch in February 1943. 
 

 Propaganda became far more strident. Extreme and crude imagery was used (including 
caricatures of the enemy), the link between the Jews and the Communists was 
emphasised, atrocity stories were published in the media about Russian actions, and so 
on. 
 

 Albert Speer became the new Armaments Minister. Some historians have suggested that 
his efforts added two years to the length of the war. 
 

 Some of the impacts he had include… 
 

 Increasing production efficiency by introducing the principles of mass production and 
improvisation. 
 

 In 1944, Germany was producing 1000 Messerschmitt Fighters from three plants, as 
opposed to the previous 180 from seven plants. 
 

 He improved workers’ conditions and used imported slave workers from occupied 
territories. 

 
 Despite his efforts, however, red-tape and bureaucracy still hindered production. Plus, the 

regime was decentralised; that is, there were many centres of power each trying to 
maximise their own authority. 

 
  



 They included… 
 

 The SS who had their own schools, factories, army, and legal and judicial systems. 
 

 Gauleiters (regional Nazi governors) who hoarded supplies despite their need in the 
army. 
 

 Individuals such as Bormann (Hitler’s confident) who particularly disliked Speer. 
 
iii. The Allied Bombing of Germany 
 

 The German people had to face bombing on a scale that totally dwarfed that of the Blitz. 
 

 During the Blitz, British civilian casualties amounted to 43,000 dead. In July 1943, 
Operation Gomorrha was launched against the city of Hamburg. That attack, alone, 
resulted in the death of 30,000 to 40,000 people. Additionally, over 50% of the city had 
been gutted. 
 

 Similar attacks were launched against other German cities. 
 

 The impact of allied bombing on the German economy was enormous. 
 

 Much activity had to be dispersed from the major cities or was forced underground. This 
placed definite limits on potential German output. 
 

 Other effects included oil supplies reached critically low levels and the railway system was 
disrupted, etc. 
 

 Yet, morale survived in most places until the end. 
 

 Historian Michael Burleigh accounted this to necessity. The distance between the 
leadership and people had become so great that people simply tried to survive. 

 
iv. Repression and Opposition 
 

 Before and during the war, the SS-police system was able to reach into every corner of 
Germany. 
 

 Between 1933 and 1945, over three million Germans spent time in a concentration camp. 
 

 In 1939, the Reich Central Security Office was established under Heydrich. His job was to 
coordinate all police forces. 
 

 In 1941, the “Night and Fog Decree” was created. The state could arrest and detain 
people without trial. 
 

 In 1942, he “People’s Court” was set up. It became known for dispensing brutal party 
justice. 
 

 As such, the Home Front didn’t suffer the opposition or industrial disruption experienced in 
WWI. 
 

 Open opposition was limited to a small number of brave individuals. 
 

  



 Examples include Hans and Sophie Scholl who organised the White Rose resistance 
movement in Munich. 
 

 However, reports from the SD (spies) revealed that from 1943, most were unhappy with 
the regime and the war. 
 

 In 1944, the army unsuccessfully initiated a bomb plot on Hitler’s life. The conspirators 
were shot. 
 

 Stiffer repression followed. 
 
v. Evacuations 
 

 In 1943, 300 000 children were evacuated. 
 

 Most were sent to caps run by the Hitler Youth and introduced to the Nazi regime. 
 

 Families fled bombed cities. This put excessive pressure on rural resources. 
 
vi. Rationing 
 

 In 1939, colour coded ration cards were issued and a point system introduced. 
 

 Originally, each person had 250 points for clothes, but this was limited to 100 from 1943. 
 

 Fruit and vegetables were not rationed, as it was believed the war would be short. 
 

 The black market meant the wealthy was still able to eat. 
 

 The food shortage was never critical; the people never starved. 
 
vii. The Role of Women 
 

 Hitler viewed women as “domestics.” 
 

 However, Historian Richard Overy argues that women did play a major role in the war 
effort. He points at the fact that in 1939, women comprised of 37% of the workforce. By 
the end of the war, this figure was 51%. 
 

 Yet, forced labour was used more than women. 
 

 In 1943, a decree was introduced that allowed for 17 to 45 year old women register for war 
work. 
 

 Most of the female labour came from the middle class. 
 
  



c. Nazi Racial Policies: The Holocaust and Persecution of Minorities 
 

 In Hitler’s view, civilisation declines when they fail to maintain the purity of their race. He 
believed it was the fundamental duty of government to ensure this never happened. 
 

 Historian Richard Overy suggests that Nazi policy towards the Jews can be broken into 
four phases… 

 
 Vilification – the deliberate attempt to create dislike and fear of the Jews, seen in 

propaganda. 
 

 Discrimination – the laws that were progressively passed, depriving Jews of their 
rights. 
 

 Separation – the progressive removal of Jews from the community and ‘resettlement’ 
to the east. 
 

 Extermination – the killing of the Jews and others in the extermination camps. 
 
i. Vilification 
 

 Propaganda was predominantly released through the Propaganda Ministry. 
 

 However, it was also evident in independent publications. 
 

 The most notable example is Der Stürmer, a popular German newspaper. It was anti-
Semitic, filled with sensational stories and graphic images, many with sexual undertones. 
 

 In the 1930s, its circulation was over 700 000 (not including those who viewed it in public 
display boxes). 
 

 Propaganda was also directed to youth. 
 

 For example, Der Stürmer published a book for children entitled “The Poisonous 
Mushroom”. It portrayed the Jewish race as evil. 
 

 Historian Daniel Goldhagen argues that the Nazis capitalised on the anti-Semitic feeling 
already existent. The effect was acceptance of the violent treatment inflicted. He points to 
the many German citizens who were involved in the separation and extermination process 
as further evidence. 

 
ii. Discrimination 
 
 A great number of pieces of legislation were passed… 
 

 1933 
 

 Quota on the number of Jewish youth allowed to attend German schools. 
 

 Removal of jobs in the civil service. 
 

 Expulsion from German culture. 
 
  



 1935 
 

 Refusal to complete military service. 
 

 Nuremburg Laws removed citizenship and made it illegal for a Jew to marry or have 
sexual relations with a German. 

 
 1936 – For the duration of the Olympic Games, there was Jewish tolerance. 
 
 1938 

 
 Many businesses seized, others had to request registry. 

 
 Not allowed to work as doctors or lawyers. 

 
 Required to have special identification documents.  

 
 Restricted access to public places. 

 
 Total exclusion from German schools. 

 
 1939 

 
 Removal of driver’s licences. 

 
 Not permitted to travel in certain areas. 

 
 Unable to appear outside after nightfall. 

 
 Illegalised ownership of wireless sets. 

 
 In 1933, the government approved a boycott of Jewish businesses. 

 
 Graffiti on Jewish businesses encouraged Germans to avoid them, while the SA physically 

prevented entry. 
 

 Kristallnacht (The Night of the Broken Glass) occurred on November 9th, 1938. 
 

 It was a systematic attack on Jews in Germany, approved by the government. 
 

 The SA and SS troops destroyed Jewish property (including synagogues) and looted 
businesses. 
 

 Over 20 000 Jewish males were placed in camps and more than 90 people were killed. 
 
iii. Separation 
 

 The victory of Germany’s armies between 1939 and 1941 brought millions of other 
European Jews under the control of the Nazi state. 
 

 The first systematic killing of Jews began in Poland. 
 

 Jewish communities were herded into over 400 ghettos and labour camps across the 
country. 

  



 The largest ghetto was in the Polish capital of Warsaw, where over 400 000 Jews were 
confined.  
 

 Later in the war, the majority of Polish Jews in the ghettos and camps were moved to 
extermination camps. 

 
iv. Extermination 
 

 In 1941, special units (known as Einsatzgruppen) were formed within the SS for the sole 
purpose of killing “undesirables” (mostly Russian Jews or captured political leaders) in the 
occupied territory of the east. 
 

 Each unit consisted of up to eight hundred carefully selected men. 
 

 Generally, they would shoot their victims before burying them in mass graves. 
 

 In their first year of operation, the Einsatzgruppen killed 1.4 million Jews and Russians. 
 

 In late 1941, the decision was made to relocate all the Jews in Germany and occupied 
territory to the east. 
 

 The official reason was resettlement, but the reality was that they were going to be 
exterminated. 
 

 On 31st July 1941, Hermann Göring (second only to Hitler) empowered Reinhard 
Heydrich (deputy leader of the SS) to draw up arrangements for the overall solution to 
what was known as the “Jewish problem.” 
 

 In January 1942, Heydrich called a secret conference of senior government and SS 
officials at Wannsee. 
 

 They discussed the technical details for the “final solution” and attempted to find ways to 
expand the slaughter and make them more efficient. 
 

 They had already tried mobile killing squads, shooting by the Einsatzgruppen and gassing 
in mobile gassing units. These methods were either slow or unreliable. 
 

 In 1941 and 1942, a series of extermination camps were built mostly in occupied areas of 
Eastern Europe. 
 

 Most were near railways to make transport easier. 
 

 From 1942, Jews from all over Nazi-occupied Europe were transported to them. 
 

 Many were killed almost instantly, while others were used as slave labour before also 
being killed. 
 

 The gas chambers were capable of killing 2000 people at a time. 
 

 Then, the Sonderkommando (Jewish forced labour) would enter the chamber, clean the 
blood and defecations, drag the dead apart with nooses and hooks, and remove teeth and 
hair (strategic materials). 
 

 The bodies would then be transferred to the furnaces that ground the remains to fine ash. 
  



 This continued until the advancing Russians overran the camps in 1944. 
 

 Even then, however, many thousands were returned to Germany and the killing continued 
until the last days of the war. 
 

 Approximately six million Jews (two-thirds of European Jewry) died at the hands of the 
Nazis. 

 
 Structuralists believe that the Final Solution was not triggered by long-term planning, but 

came about because of the increasing radicalisation of the Nazi state and the competition 
between individuals. 
 

 Historians that favour this position include Martin Broszat. 
 

 Intentionalists see Hitler as the key element in bringing the Final Solution into being. They 
argue that it was always Hitler’s intention, he simply needed an opportunity. That arrived in 
1941 as Germany occupied large areas of Eastern Europe. 
 

 Historians that argue this position include Alan Bullock, who believes that Hitler had the 
imagination to develop such a plan, but lacked the ability and interest to organise its 
execution. He states that if there had not been Hitler to conceive such a project and 
convince others of its potential, it would not have happened. 

 
 Hitler viewed homosexuals, gypsies, and the mentally ill and physically disabled as 

enemies to the state. 
 
i. Homosexuals 
 

 Homosexuality was made illegal under the Criminal Code. A special section within the 
Gestapo investigated accusations. 
 

 More than 100 000 men were arrested and 15 000 were sent to concentration camps. 
 

 For those within the SS, the penalty was the death sentence. 
 

 Lesbians were not subjected to systematic persecution. 
 

 The death rate for homosexuals in concentration camps was about 60 per cent. 
 

 Homosexuality was also used to discredit political opponents and justify their death or 
removal from particular positions of authority. 

 
ii. Gypsies 
 

 Gypsies were disliked because they were not racially pure and were seen as anti-social 
and unproductive. 
 

 In 1940, all gypsies in Germany and conquered areas were deported to the newly opened 
camps in Poland. 
 

 By the end of the war, over 200 000 of Europe’s gypsies had been killed. 
 
  



iii. Mentally Ill and Physically Disabled 
 

 In 1939, the Euthanasia program began. 
 

 People in institutions and hospitals who were certified unfit by a specially selected team of 
doctors were killed. They were considered to have a “life unworthy of living” and their 
survival was considered not to be in the interests of the nation. 
 

 These people would be transported to one of six special facilities across the country. 
 

 They were killed either by exposure to gas or lethal doses of medication. 
 

 The bodies were then cremated, fake death certificates were issued, and a letter of 
sympathy was sent. 
 

 By 1941, the news of the Euthanasia program leaked. 
 

 Religious figures protested against it. It was cancelled. 
 

 In mid-1942, the killings secretly resumed. Victims were either killed by lethal injection or 
drug overdose at a number of medical clinics throughout Germany. 
 

 By 1945, the total number of mentally ill or handicapped people killed was 275 000. 
 
4. End of the Conflict 
 
a. D-Day and the Liberation of France 
 

 At the Teheran Conference (1943), Britain, Russia and America debated the future of 
WWII. 
 

 Stalin was angry with Roosevelt and Churchill as they had not fulfilled their promise to 
create a second front in Nazi-occupied France. 
 

 This debate had existed since 1941. 
 

 During this period, two preliminary plans for an invasion of France had been designed by 
Britain. 
 

 They were called Operation Sledgehammer (1942) and Operation Roundup (1943). 
 

 Neither plan materialised because the American and Commonwealth forces were 
disposed of elsewhere.  
 

 However, since then, the Axis powers had been defeated in North Africa and Russia and 
Mussolini’s regime had been deposed in Italy. 
 

 Stalin’s request could no longer be dismissed. 
 

 The Big Three agreed that an Allied invasion of France should be a major priority during 
1944. 
 

 At the same time, Britain and America were concerned of Russia’s growing power. If they 
did not establish a strong military profile during 1944, then Soviet forces would have an 
uncontested advantage. 

  



 Thus, the decision to create a second front has strategic, diplomatic and ideological 
components, with many private agendas. 
 

 At the Teheran Conference, they agreed on two strategies. 
 

 First, an Allied task force would invade France. 
 

 Second, Russian forces would launch offensives to liberate Finland and Poland. 
 

 The long-term Allied goal was to destroy Germany’s military resources, to liberate its 
occupied territories and to occupy Berlin. 
 

 This was known as Operation Overload – code-named D-Day. 
 

 Hitler expected the Allied powers to attack France during 1944. 
 

 He believed the “Atlantic Wall” (a heavily fortified wall from Norway to Spain) would protect 
them. 
 

 General Gerd von Rundstedt was Hitler’s senior officer in France and the Low Countries. 
In 1941, he asked Hitler for more men to defend the Atlantic Wall. Hitler declined because 
the Wehrmacht was committed in Russia. 
 

 One year later the Atlantic Wall was still largely undefended. Fewer than 50 000 German 
troops were permanently stationed there. 
 

 In late 1943, when the build-up of Allied troops suggested that an invasion of Europe was 
highly likely, von Rundstedt received more German combat units on a regular basis. 
 

 Rommel was appointed his deputy. 
 

 Determined to make up for his failure at El Alamein, he fortified the wall with four million 
land mines. 
 

 The Atlantic Wall differed greatly from Hitler’s previous rapid-offensive strategies. It was 
an admission that the Wehrmacht would also have to fight from defensive and static 
positions at some future date. 

 
 The beaches of Normandy were selected as D-Day’s initial target. 

 
 After securing a beachhead, the Allied forces would then move inland and capture 

selected towns and military bases controlled by the Germans. Subsequent operations 
against the major seaports were also integrated into the plan. 
 

 The plan involved air, sea, land and support units in twelve sub-operations. 
 

 During stage one, naval and aerial bombardments would attempt to destroy the Atlantic 
Wall. 
 

 Parachute drops (including thousands of airborne troops) had two missions: to destroy the 
Wehrmacht’s lines of communication and to enforce new resistance strongholds created 
by France’s underground anti-Nazi movement. 

  



 The major thrust of the operation involved more than 50 000 Allied soldiers who would be 
rapidly transported as close to the beaches as possible. Waist-deep in the ocean, they 
would be required to fight their way forward. 

 
 Operation Bodyguard was an attempt to keep the D-Day invasion a secret by distributing 

misleading information to convince the Abwehr (Germany’s intelligence bureau) that an 
Allied attack would occur in either Norway or the French port city of Calais sometime 
during 1944. The operation began in late 1943. 

 
 It involved such methods as… 

 
 Physically “leaking” information of battle plans that the Abwehr could easily decode. 
 Creating false armies to make the plans appear realistic. 
 Allied leaders had look-a-likes who travelled throughout England on false missions. 

 
 It was obvious that there would be a British-based invasion. For example, Operation Pluto 

(a component of the D-Day plan) was under construction. It involved the manufacture of 
over 150 km of flexible pipelines that extended to Britain’s mulberry harbours (platforms 
near Normandy where men and materials could be offloaded). They provided the Allies 
with petroleum products each day. 

 
 The only secret was the specific location. 

 
 The Abwehr was suspicious of the amount of information, but could not afford to dismiss 

any data that could assist Germany. 
 

 Accordingly, they issued their spies in Britain to determine whether or not the information 
was true. 
 

 In time, the secret was almost compromised by Allied soldiers who foolishly mentioned 
words directly associated with the invasion to the general public. 
 

 In 1944, the French Underground Movement had launched new operations which 
sabotaged German resources and blew up selected bridges and railroad lines as part of 
the Allied plan. 
 

 The Abwehr was now convinced that France, not Norway, was the invasion target. 
 

 Hitler responded by sending more combat units to defend the French coastline. 
 

 In June, Allied intelligence officers began to transit orders specifying an immediate 
invasion of Calais. 
 

 This is what the Germans expected. 
 

 The following is a comparison of Allied and Axis strengths prior to the invasion of 
Normandy... 
 

 In regards to allies, the Allied powers had far more. They consisted of Great Britain, US, 
France, Canada, Australia and New Zealand, with help from Belgium, Norway, Poland and 
the Netherlands. The Axis powers were predominantly Germany, with help from Hungary 
and Romania. 

  
The Allied strengths were their 300 000 troops, 7 000 ships in the navy and 12 000 aircraft 
in the airforce. 

  



 The Axis strengths were their 180 000 troops, with 1 500 field guns, and the heavily 
defended Atlantic Wall. 

 
 D-Day was a complex military invasion with many component parts. 

 
 Allied strategists divided Normandy’s beaches into five attack zones. Three Allied armies 

would attack simultaneously. 
 

 D-Day began on 4th June, 1944, with the launch of Operation Neptune. 
 

 Operation Neptune witnessed the staggered departure of the Allied ships to the coastline 
off Normandy. 
 

 A day later, 12 000 Allied paratroopers entered their transport planes. They were to be 
dropped behind the beaches of Normandy and the Atlantic Wall in six different waves. 
 

 Simultaneously, 1000 parachute drops (holding dummies) occurred over Calais. 
 

 Many of them had self-detonating explosives attached to their clothing. 
 

 Additionally, there were fighter aircraft, heavy bombers, and glider planes, carrying radio 
equipment and commando units, who waited on runways for their instruction to take-off. 
 

 Between June and August, the fighter planes would fly more than 14 000 sorties over 
French skies. 

 
 10 000 tonnes of bombs were eventually released behind the Atlantic Wall to help destroy 

Germany’s military resources in France. 
 

 On the 6th, more than 50 000 Allied soldiers left their transport ships and boarded landing 
ships (LSTs). 
 

 Just before dawn, these LSTs moved forward in staggered rows. 
 

 By then, German sentries on the Atlantic Wall knew that Normandy would be attacked. 
 

 As the sun came up, a massive line of ships extended across the French coastline. The 
thousands of naval bombardments attempted to destroy the Atlantic Wall before the 
amphibious invasion began. 
 

 German coastal patrols retreated to their bunkers and began to prepare. 
 

 The soldiers stockpiled ammunition and calibrated their weapons. All gun sights were 
focused on the Allied LSTs. 
 

 The Allied invasion force faced many problems. 
 

 The LSTs were required to get close to Normandy’s beaches while being pounded by 
coastal artillery. 
 

 When the attack order was given, the men had to jump waist or shoulder deep into the 
ocean. With equipment weighing at least 25 kilograms, drowning was a distinct possibility. 

 

  



 At this point, the beaches became “no-man’s land”. 
 

 On 25th July, Operation Cobra began. French resistance forces began to gather. 
 

 In mid-August, US and French troops invaded southern France in Operation Anvil. 
 

 German soldiers maintained their positions until withdrawal and survival became mutual 
creeds. 
 

 On 15th August, Paris was liberated. It had taken seven weeks with 400 000 German and 
200 000 Allied casualties. As William Ryan (an American soldier) described, “Everywhere 
there was chaos, screaming and disorder. Above my head bombs kept going off. The 
machine guns never stopped.” 
 

 In October, de Gaville (the French leader) restored order. 
 
b. Russian Counter Offensives (1944) 
 

 In July 1943, Hitler ordered a strike on Russian fortifications at Kursk. 
 

 War was waged over this. The Russians won. 
 

 Now, the Red Army had the advantage on the Eastern Front. 
 

 Their aim was to push back the Axis powers. Major Soviet gains are outlined below. 
 

 In January, Russians began to recapture Ukraine and Crimea. They also broke the siege 
of Leningrad, wiping out three German divisions and weakening others. 
 

 In March, one of Hitler’s three armies (south) had been split, limiting its power. 
 

 In April, Russians began to free to Crimean Peninsula. 
 

 On 22nd June, Operation Bagration was launched. 
 

 At the Teheran Conference, Stalin agreed to start an offensive to support the Allies after 
D-Day. His support came later (than D-Day) as his army was still in the process of being 
rebuilt. This came in mid-1944. 
 

 The aims of the operation included… 
 

 Conquering Belorussia and Poland. 
 
 Destroying one of Hitler’s army (centre). 
 
 Launch subsequent attacks on Finland, Romania, and Hungary. 

 
 They had a million troops, 6000 tanks and 2000 planes. Their man power outweighed the 

enemy 4:1. 
 

 During June and July, they moved towards Poland. They cut the German army’s supply 
lines and retreat routes and took their resources. 

 
 The German units resisted, but were overcome. 

  



 The outcomes of the operation included… 
 

 Defeat of Hitler’s army (centre). 
 

 300 000 German troops were killed, injured or captured. 
 

 Captured German war materials. 
 

 Actions against Hungary and Romania were successful. 
 

 The Defence and Foreign Affairs Daily (US) believes that Operation Bagration was the 
decision battle of WWI. “Whatever hopes for survival which the Third Reich leaders 
harboured, evaporated.” 

 
 Historian Jonathan Jordan argues that Operation Bagration was the largest allied 

operation of WWII, making Operation Overlord (D-Day) pale in comparison. He points at 
the fact that three German armies were demolished and the Wehrmacht’s position on the 
Eastern Front was opened up as evidence. “Many German and Soviet accounts agree that 
Operation Bagration was Hitler’s worst military setback of the war.” 

 
 In July, the Russians made a move on the Baltic States. 
 
 On the 17th, Russians entered Warsaw, Poland. The actions here were to become known 

as the Warsaw Uprising. 
 

 While Poland was a German occupied country, there were two resistance groups. 
 

 One was linked to London and one to Moscow. 
 

 The Soviets had encouraged the two groups to revolt against the Germanys as soon as 
the Soviets arrived. 
 

 150 000 Poles fought and the German panzer units retaliated. The Soviets simply 
watched. 
 

 Stalin’s plan was to let the Germans and Poles fight and eliminate each other. 
 

 In September, the Pope appealed for help for Poland. Stalin responded by giving 50 
pistols, 2 rifles and one crate of ammunition. 
 

 In October, the Poles sought an armistice with Germany. It was granted. 
 

 The uprising had lasted 66 days. 130 000 Poles were killed and 200 000 were sent to 
concentration camps or slave labour. Many of the victims were unarmed, innocent 
civilians. 25 000 Germans had been killed. 
 

 In January, 1945, Poland was liberated. 
 

 Roosevelt and Churchill were suspicious of Stalin’s intentions. The seeds of the Cold War 
were sown. 

 
 In September, Romania surrenders and the Russians gain control of Bulgaria. 

 
 In October, the Baltic States fall to Russia. 

  



 By the end of 1944, Hitler’s empire was greatly diminished. 
 
c. Operation Market Garden 
 

 Operation Cobra, remember, was an aggressive plan to destroy all German units in 
France and then move forward towards Germany. 
 

 However, both task forces experienced major logistical problems that stalled their 
progress. 
 

 Montgomery suggested that they focused on the liberation of Belgium and Holland before 
attempting to invade Germany. He envisioned Holland as the new supply base and also 
liked it for its location. 
 

 Eventually, General Eisenhower accepted the plan. The fact that the plan included the 
destruction of the rocket bases that had been terrorising Britain assisted his decision. 
 

 The plan was launched in 1944. It was the largest airborne assault in military history. 
 

 First, airborne units were to land in specific drop zones. 
 

 Second, ground forces were to provide combat, transport and logistical support as the 
combined task force moved forward. 
 

 They were then to establish a new front along the Siegfried Line. 
 

 Once this was achieved, operations would be launched in order to destroy the rocket 
bases in Holland. 
 

 However, the operation experienced a large number of problems… 
 

 The Wehrmacht had a strong military profile in Holland, which was downplayed or ignored. 
 

 As the Wehrmacht used its own complex network of radio frequencies (many of which had 
not been deciphered), Montgomery was unable to identity their intentions or movements. 
 

 Maps used were outdated and inaccurate. Thus, infantry movements could only be 
estimated. 
 

 Many airborne units missed their target zones and were thus isolated from their units. 
 

 Reinforcements could not be supplied due to strict timing schedules. They were left with 
parachute drops, which were affected by bad weather. 
 

 The Poles joined the campaign a day late, reducing the effectiveness of the plan. 
 

 A briefcase of the plans was found, compromising the operation. 
 

 By day three of Operation Market Garden, the Allied offensive had failed. 
 

 The Allied aerial evacuation began on the eighth day. However, it was very poorly 
planned. 
 

 The Allies lost because the operation was based entirely on presumptions, speculations 
and estimations. 

  



 It achieved none of its goals. It was, instead, beneficial to the Germans… 
 

 Allied losses were extensive: three airborne divisions were temporarily combat-
ineffective and 18 000 men were killed, wounded or captured. 
 

 German morale increased. 
 

 The Allied Command became divided over tactical and strategic issues. 
 

 Hitler viewed this as the ideal social and political environment in which to launch his next 
attack. 

 
d. Battle of the Bulge 
 

 The plan was to divide the Allies army by driving a panzer wedge between them in 
Belgium. 
 

 They would then recapture the port city of Antwerp. 
 

 However, the Generals opposed the plan for four reasons… 
 

 German troops risked being surrounded if they were outmanoeuvred. 
 

 The Allies had total air superiority. 
 

 Wehrmacht units were not at full strength due to losses caused earlier in the year. 
 

 The weather conditions were not ideal. 
 

 Hitler was unmoved. He believed that a blitzkrieg through the Ardennes would succeed. 
 

 Before the actual operation commenced, teams of troops posing as British or American 
soldiers were sent to the Ardennes. Their mission was to create diversions and gain 
information once the invasion began. 
 

 Hitler ordered the invasion commence on December 16th, 1944. 
 

 This decision was due to the weather. Clouds and fog would keep Allied aircraft on the 
ground, increasing the safety of the soldiers. 
 

 The surprise attack resulted in initial success for the Germans. 
 

 For the first three days, they also managed to divide Montgomery’s forces from Patton’s 
armies. 
 

 The Battle of the Bugle continued for five weeks. 
 

 During this time, the Ardennes Forest witnessed massive tank movements that included 
attacks, retreats and attempted escapes. 
 

 On the 24th December, the leading panzer units ran out of fuel, ending Germany’s forward 
assault. 
 

 Additionally, with clearing weather, the Allies were able to utilise their aircraft. 
  



 These caused major damage to the panzer units. 
 

 Snow and the freezing conditions meant that tanks could easily be seen by the pilots, the 
oil sumps of vehicles solidified (ending mobility) and hypothermia and frostbite were 
common. 
 

 On the 31st December, Patton’s army had nearly surrounded a large German force. 
However, slow reinforcements resulted in many Germans escaping. 
 

 The Allies had missed an opportunity. 
 

 In January, when it had become clear that the offensive might fail, Hitler launched two 
more operations. 
 

 The first was an attack on airbases in France and the Low Countries. It managed to 
damage or destroy more than 500 hundred aircraft, but suffered significant losses (300 
planes) itself. 
 

 The second was an attack into the Alsace-Lorraine region. It failed and represented 
Hitler’s last operation. 

 
 Germany’s blitzkrieg into Belgium was initially successful, but the successes were short 

lived. 
 

 In January, troops were forced to fight their way out of Belgium as the Allied armies 
regrouped. 
 

 The Allied air attacks intensified, paving for the way for their eventual victory. 
 

 General Mellenthin believes that mass attack by tanks has no hope against an enemy who 
has complete superiority in the air. 
 

 After the Battle of the Bulge, Nazi Germany faced three realities… 
 

 Manpower losses were severe. 82 000 German troops were killed or wounded from 
this operation. 
 

 Equipment losses were significant. 
 

 Allied armies were now closer to Germany. 
 
e. Final Defeat (1944 – 1945) 
 

 From January to April, 1945, there was intense Allied bomb and submarine campaigns. 
 

 There were also fifty Russian armies surrounding the city. 
 

 However, they did not surrender, as Russia had expected them to. 
 

 Russia looted, raped and murdered in Berlin. They had no consideration for age or 
gender. 
 

 In late-April, when armies entered the city, they became cut off from the remainder of the 
world. 

  



 This forced them to surrender to Russia on May 2nd. 
 

 Hitler was forced into hiding from January, 1945. In April, he killed himself. 
 

 Doenitz was named the new administrator. 
 

 He ordered General Jodl to sign an unconditional treaty of surrender. 
 

 On 8th May, 1945, all forces under German control ceased all military operations. This 
was known as Victory in Europe Day. 
 

 However, WWII did not end until Japan forces surrendered months later. 
 

 Many other German officials committed suicide. Others were tried as war criminals. 
 

 The total cost of WWII was 62 million deaths (37 civilian, 25 military). 
 
f. Reasons for the Allied Victory 
 
i. The Glad-Bag Interpretation 
 

 This interpretation generally points at a wide number of reasons, which accumulated to the 
extent that Germany became overwhelmed by its superior enemy. There was no one single 
key factor. 

 
 They included… 

 
 Greater allied production of war materials. 

 
 Germany’s over-extended lines of communication. 

 
 The hostility of people in the occupied countries. 

 
 Germany’s inefficient economy. 

 
 Allied control of the air and sea. 

 
 Failure to gain control of North Africa, the Suez Canal, and Middle East oil. 

 
 Germany’s failure to take advantage of Stalin’s unpopularity. 

 
 The liability of Italy as an ally. 

 
 Superior allied political and military leadership. 

 
 Superior allied intelligence. 

 
 Failure to knock Britain out of the war in 1940. 

 
 Becoming bogged down on the Eastern Front. 

 
 Defeat at Stalingrad was a turning point. 

 
  



ii. The Allied Control of the Air 
 

 Allied control of the air made it impossible for Germany to achieve its long-term military 
objectives and did much to weaken the German economy. 

 
 The Luftwaffe failed in the Battle of Britain. This meant… 

 
 They had to postpone any possible invasion of Britain. 

 
 The bombing did not reach its two aims. It did not dent British morale, but had the 

opposite effect, and it didn’t have a terrible effect on the British economy. 
 

 It made possible the later intervention of the United States. 
 

 Allied bombing had a major impact on Germany’s ability to sustain a war… 
 

 It became impossible for industry to become geographically concentrated. Factories 
were dispersed across the country, affecting productivity. 
 

 Germany’s railway network was greatly disrupted. 
 

 Chemical and oil production was affected, making munitions production more difficult. 
 

 There was an array of humanitarian and social issues. 
 

 Other Allied initiatives and German impacts included… 
 

 By late 1943, a system had been developed to enable fighters to fly distances as 
great as bombers. 
 

 In response, the Germans had to divert many fighters to the home front. 
 

 This weakened their aerial strength on the Eastern Front and in Normandy. At the 
time of D-Day, the allies had 12 000 aircraft to use. The Germans had less than 500. 

 
iii. The Allied Control of the Sea 
 

 Both Roosevelt and Churchill believed that the war would be won or lost at sea. 
 

 Allied losses at sea reached catastrophic levels during the first three years of the war… 
 

 Britain could be starved as it relied on imported food. 
 

 It would be impossible to import war equipment, including munitions. 
 

 Its links to the empire and Middle East oil would be cut. 
 

 It would be impossible for the US to ship over troops. 
 

 Necessity had inspired technological innovation by the end of 1043 to wrest control of the 
Atlantic. 
 

 The result was avoiding all the issues listed above. 
 
  



iv. The War was Lost on the Eastern Front 
 

 Hitler’s failure to defeat the USSR dragged the German army into a long draw-out war of 
attrition on the Eastern Front. 

 
 In 1941, the Germans were extremely close to defeating the Soviet Union… 

 
 The Soviet Union lost hundreds of thousands of men killed or captured. 

 
 The Luftwaffe had decimated the Soviet air force. 

 
 Western Russia was in German hands. Others (like Leningrad and Moscow) were 

under siege or about to be attacked. 
 

 Moscow survived. This meant that Russia had a chance to mobilise its economic and 
human resources. 
 

 They soon were achieving unbelievable feats of production, civilian morale and 
enthusiasm was high, and they were able to rapidly mobilise as they were a centralised 
police state. 
 

 As a result of these factors, the USSR gradually ground down the German forces. 
 

 From 1944 onwards, the army was able to push the Germans back towards their own 
land. 
 

 Churchill once said that it was the Russians who “tore the guts out of the German army”. 
 
v. The Intervention of the US 
 

 Even before its entry, the US had done much to sustain the British war effort… 
 

 Provided extra destroyers. 
 

 Created the lend-lease system, in which the US provided war and raw materials. 
 

 They joined the war in December 1941. 
 

 Their military power was a key factor in grinding Germany down… 
 

 Much of the bombing of Germany was carried out by the American air force. 
 

 The US navy was crucial in getting supplies across the Atlantic. 
 

 From 1944, the main military engagements were dominated by the American army. 
 

 The American economy could not be matched in its efficiency and production. 
 

 In a long, drawn-out war, Germany simply could not survive against such economic and 
military power. 

 
  



vi. The Weakness of the German System 
 

 Poor preparation and the failure to immediately organise the nation into total war. 
 

 The failure to defeat Britain and Russia. 
 

 The extensiveness of the war which stretched Germany’s limited resources. 
 

 The lack of centralised control led to gross economic inefficiency. 
 

 The state’s obsession with racial issues diverted resources and manpower from fighting 
the war. 

 
vii. Historian Perspectives – Richard Overy 
 

 Overy points at the fact that Germany occupied or had ‘friends’ across the entirety of 
Europe, the US were only half-heartedly involved and were preoccupied with Japan, and 
Germany’s occupation of all of western Russia. An allied victory was not certain. 
 

 He refuses to believe that the result can be explained by simply saying the allies had far 
more resources. 
 

 He believes that there was a wide gap between the actual and potential output of both 
sides and asks the question: why were the allies able to maximise their economic 
superiority and the Germans unable to? 
 

 To explain the former, he believes that invention and innovation won the battle in the air 
and at sea. 
 

 To explain the latter, he looks at factors such as the internal rivalries, military interference, 
lack of mass production, and technological failures. 
 

 He also looks at other reasons such as the superior allied leadership. 
 
f. Reason for German Defeat 
 

 Hitler had not expected a world war to eventuate from his invasion of Poland. Germany 
was not prepared. 
 

 Germany failed to defeat Britain in 1940-1941. This left the war in stalemate. The longer it 
lasted, the less chance Germany had to win. 
 

 Waging war against the USSR and the USA (1941) gave the Allies the human resources 
and organisational skills of Russia and the industrial might and human resources of the 
USA. 
 

 Operation Barbarossa left Germany fighting in the terrible conditions of a Russian winter. 
 

 Harsh treatment of conquered peoples meant the formation of resistance groups. This 
forced Germany to allow for some of their troops to deal with this opposition. 
 

 Germany’s large area made it difficult to sustain and protect. 
  



 Italy was a weak and unreliable ally. A large part of this was the lack of commitment of 
Italian troops to Mussolini’s regime, as demonstrated by the mass surrender of these 
troops in North Africa. 
 

 Other alliances eventually collapsed. 
 

 Until almost the end of the war, the Nazis failed to fully mobilise the German economy. 
 

 At crucial points in the war, Hitler ignored the expert advice of his military commanders. 
 

 He was also too ambitious for the capability of his army. 
 

 There was no attempt made for a “fourth Reich”. Thus, the regime collapsed with the end 
of the war. 

 
g. Nuremburg War Crimes Trials 
 

 In 1945, Truman, Churchill and Stalin agreed that a trial of major war criminals would take 
place in Nuremburg, Germany. 
 

 The basis of the trials was established by the London Chart, signed by the Big Three on 
8th August, 1945. 
 

 The Allied powers created the International Military Tribunal. 
 

 Court proceedings began in November 1945 and continued until October 1946. 
 

 Twenty-four men were cited as major war criminals, but only twenty-one were tried.  
 

 The charges were conspiracy, crimes against peace, war crimes, or crimes against 
humanity – or a number. 
 

 All, but three, were found guilty.  
 

 Eleven were sentenced to death. Seven served some form of imprisonment. 
 

 The Nuremberg Trials created a controversial legal precedent. 
 

 Similar court proceedings took place in Tokyo between 1946 and 1947. 
 

 However, it is interesting to note that senior Allied officers escaped any form of public trial, 
despite the destruction they, too, caused in conflict. 
 


